i
I
iy
Tl
P=ai
i

1. ¥4
4 N6 FEFEEHIERAR (RANT) S A 265
BT AT AP [EE B ATE N

2. EHEAR

1) FHEI4

2) JEATHIM

BYPU I EEFHIT A

290 H {5 H &% 74 37120
E S THE12H26H

3) PN

4) EBNE

=R oS KN o723 S



TR AR

Tl
>

¥W4 | D6 FEWHAEEE REART) SV IR A ER YR AR A
H H — AR
HA - T/ - FE5 B B & 4 %A O ER
— A X 1 17, 708, 444
[ERETITEE =4 2V 1 15,918, 510
e —Y 7 M 1 8,827,890 | LEA—V 7 (/) rari—U v
7) 15 m
et - 2o b, BOmEL TR, SR E T, ¢
86mm
TER=V T rari—1 v
7) 26 m

B - WY 4, 50mEL T, $RTE. T 7, ¢ 86mm
TER—=V 7 () rari—V v

7)) 1 m
R U Y 4, 50mEL T, $R1E. T 57, ¢ 86
mm

+ER—Y 7 = arTR—Y

) 108 m
FEMEL « oL b, BOmEE~80mEL T, SR
T3, ¢ 66mm

+ER—V T (F—naTrR—V

) 147 m
T - WY 1, 50mER~80mLA T, $A1E T 5
, ¢ 66mm

+ER—V T (F—naTrR—V

7 90 m
R TV 40, 50miB~80mLL T, $niE
75, ¢ 66mm

FoFY T = 1 204, 300 | BEEL Ab/RY -7 5-
3

n—4)—X=ZEEY) LT T—

BT o RO = ! 1,180,440 | PR 5

- Etzz@y  AbkEt 5w R



=
=

it
T
iy
g%

¥W4 | D6 FEWHAEEE REART) SV IR A B YR AR A
H H — AR
THH - TR - R B % & 4 %A OB N AR
108 [
P o R O N
TEEE AR
147 ]
e e+
TEEE AR
90 ]
R TV b
LA AR ER
5 B
e 38 A
B %Kk
1 B
= Uik
A fEAT oy 1 194, 800 | fRtTeEi4A
1 =
ENLE R X 1 2,315,080 | d-Hi DEEEERER
45 v s
T OE KB
9 v s
ook EE R ER
45 v s
ook EERER
58 v s
LD FR S EER
45 v s
LD IR MRS
45 v s
oo i R R
6 Wi
D — g EAE R
3 e

-2 - Etzz@y  AbkEt 5w R



B
EBL | D6 FEERMER (BANT) SHE RS E B YR AR A
H H — AR
THH - TR - R H AL %% 4 %A Wl B N R
ZilEAERER (U0)
3 v s
ERQJEE- N
6 A
Pl T VR 2 184,000 | R AL IERE
1 =
T e X 12,000 | MEES%
6 i
e A X 1,789, 934
TER X 171,860 | MEREY
1 =
TERE
1 =
HEf 2 X 460, 730 | EfE K OWR A
1 =
A fLEAZE
1 =K
Fak A (R > 7 ER)
1 K
Rz &N 705,600 | SR
1 K
Vi Gk ¢ X 340,399 | FcE (KEF L - 1E1RE)
1 K
T 2 111,345 | Jifi T Py
1 K
ELETA L + R X 17, 708, 444
e = 11, 251, 556
EA S 2V 11, 251, 556
-3 - ELzima Ak &



EW4 | B 6 AR GEANT) SHE T E ER A
H H —WRAAE SR
TEHA - LfE - R =AY VA * & A OB R
— TR = 28, 960, 000
AT S A = 1, 296, 200
BEEBE = 1, 296, 200
AT S A = 1,296,200 | %
1 S
FRNT R
1 =
Iim = 299, 600
bS] = 299, 600
e = 299,600 | ¥TAY
1 =
EREM (2 OMFEMmER<) =X 1, 595, 800
Z O FA =X 859, 338
— RS L = 1, 314, 862
AT R S = 3,770, 000
A ZERS MRS = 32, 730, 000
Bt X 135, 420
im GREFER) =X 135, 420
2N BR Rl SR SV ERK: = 135, 420 | ZABHAY B AL AERL
1 S0

=R oS KN o723 S



FEH N

%lljll
I

EHL | B0 6 FAEERIERRR GRAET) S HVETRAEER ER BEES
H H M (2 OMFMER<)
TEHA - LfE - R =AY VA # & A OB R
ERREM (ZOtFEMmER<) X 135, 420
& DAt AT = 72,923
— i B = 111, 657
SRR = 320, 000
SRR oy 33, 050, 000

=R oS KN o723 S



